b4

1. Linear C,

2. Responsive variable F
3. Independent variable €
4. Dependent variable £\
O

6. Manipulated variable

5. Slape

h\_. Any straight line graph.

{x-axis).

A Veitical akis ) variable.
' Y\ The variable you change.

\D\ Measure of how steep a line is,
§Es‘, The vartable on the horizoatal axis

\R What changes because you change

Circle the Independenr Variable
A~ Timeor Acceleration
B. Velocity or
C. (Time ¢r Position

le the Manipulated Variab
A @‘ an object or Acceler,
B. Period of & Sprin o' Mass hi

C. (Number of batteri br Brig Eaess of abulb?

something.
oo eon ve. T What does the stope of this line show? _S ﬂ@éq
120 o - How much time does it take Object A to travel 100m? ﬁg&
100 ’ How much time does it take Object B to travel 100m? fO;"@
E g & @ Which Object (A or B) has the faster velocity?
é 80 Object C starts where? (@M Object C ends where” éom
g 40 ' Which line shows negative speed?
20 % \j\@' Which line shows positive speed? A , E;
° 0 o 4 6 8 10 1'2 Which line shows an object at rest? - -
Time (sec) What is Object D's intial position? 100w
Velocity vs. Time When was the object:mioving at 150 m/s? S :FCC--
330 5 How fast is the object going after 10 seconds? 0w k
s igg ' . What was the initial velocity of the object? { 7)&:’-’/1-{5
€ 200 How muich speed does it gain i the first 5 seconds? [ S O [
i; :gg Find the slope of the graph {must sh-:;w work) =
* sg ] - 150w s(o ?e 2 /’m 30 s
01 23 ?fimz ( si e 5)7 8 9 10 1114?:\"113561%:: ;he slope you just found stand for? [}2(‘ LJWO/\
Position vs. Time Which is the independent variable? ’KM
:g ] | | Which is the dependent variable? Yos e~
E:; » /l/ Where was the object at 4 seconds? (q WI
= Where did the object begin? D
% 6 - Fmd the slope of the graph {must show work) S
A 4 Q(Opz ,,—l"_u__l-————" = '5""”/{
5 - _ D\[ iqw‘—lm 1T AY Llj'-c&
0 1 2 Tim es( se0) 4 5 b Axaat d%ss‘tbhetslope you just found stand for? %Q@n! o L@[ & ;)L)

Constant velocny' P; %
| Positive acceleration:

- 'Neuatwe acceleration: <~
' .Speedmrr up: A
Stowing down:

The slope of thxs graph means:

Velocity vs. Time

Position vs. Time Which segments shows:

{, Atrest: [ i C

Fast speed: (%

Slow speed: D

Velocity

Going backwards: [3

A.
AN
®

Position

(cH

Going forward:

Negative speed: B

Time

Time

Speed equals zero: ﬁ“%C, .




